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HERER  English version
The way to know the depth of the well.
There is a diameter of 5% of the well.

When | see the bottom of the well from the tree’s top
which the height is 5% My eye line hit the point
which is at the 4" from the well’s right edge.

So every unit changes sun because every increase
the depth by 5shaku |
When the depth increases by 59, the width increases by 45,

Similarity of right triangle uses.
The sun of tree’s height and the depth of the well assumptions x
4:50=50:x
4x=2500
x=625

Subtract them from the length 5%k of the tree.
625-50=575

Therefore, the depth of well is 575",
Unit return to the original.

A person in charge Ebihara and Ogura.
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B5EBER  English version
The way to know the depth of the well.

There is a diameter of 55k of the well.

You put the tree of the 5% on the edge of the well and
see the bottom of the well diagonally from the tip of the tree.
At that time, your eye line hit the point which is at the 45«
from the right edge.

You realize that when the depth increases by 5shaku
the width increases by 45,

If you use this, 8 in the 5k it can take 6, depth is 6/ov.
You arrange the rest of the unit, depth is 6/you 2shaku Ssun,
Subtract length from top of the tree to the bottom of the well
from the length 5%k of the tree.

Therefore this is the depth of well.
A person in charge Ebihara.
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In this problem, people of Edo period measured the depth of the well which
people cannot measure by height of the tree which put on the edge and
similarity of right triangle
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We will do Japanese version more exactly.
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We want tell native speaker English version not only nuance
but also meaning
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At first, we have very hard time because we can’t be a Japanese translation.
But, we have found that this had been studying in junior high school. It was
very hard to represent mathematically and to translate English from the
words of the Edo period. We based on this way of thinking, we thought that
proportionality and similarity of right triangle were made.

B /NEG

51/
RIAEEREREE Mitate Sanpou Kiku Buntousyu
ZR7EF A.D.1730

EE - BRE BE  Author:MASHIO Tokiharu




